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SCEAES-STE CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
J181 2 At Al 22,998,263 15,960,505 7,087,758
AT (LUTIYT/LBHE) 604,740 579,730 25,010
NEL-3E 542,740 559,730 16,990
NEEL 118,210 113,500 4,710

201 L2yl 118,210 113,500 4,710
01 Ak 2relt| 118,210 113,500 4,710
OYFA BACSE22 yEH S 4,710 0 4,710
—sEsd 312,008 * 621 1,872 0 1,872
—sEs= 473,0002 * 621 2,838 0 2,838
sy 24,730 36,430 A11,700
301 LP A 5,130 16,830 A11,700
09 BAAIHI 2 & 3 5,130 16,830 A11,700
OFMN2ARS YIS H4 OlH(SSY &
Z) Z2E 0¥ 0 11,700 A 11,700
NETED 0 10,000 210,000
201 L2yl 0 10,000 210,000
03 BAH2 b 0 10,000 210,000
OXSZREAEE MOIL L ARIESS HE (2
=LUNET) 33 02 0 10,000 £10,000
DotAE 62,000 20,000 42,000
DorAtg 018 62,000 20,000 42,000
307 QI2+0| 42,000 0 42,000
02 QIR B MAR BT 42,000 0 42,000
OYFAN NHLHHY A7
20,000,0008 * 14 20,000 0 20,000
OXeig@EEM MOIL 2 ARIES3] HE X
2 10,000,0008 * 14} 10,000 0 10,000
OYFA FHT2AE A3 WA X2
12,000,008 * 14 12,000 0 12,000
MO (LTIHT /XSS - WEXH) 381,204 331,204 50,000
sy 179,540 129,540 50,000
ZSYLN 127,220 77,220 50,000
201 Lot 2yl 68,900 18,900 50,000
01 AL 2tel | 68,900 18,900 50,000
ORNEROL &2 2225 7Y
50,000,0008 * 14 50,000 0 50,000
HUBOHLBNIIYT /L) 162,190 151,790 10,400
#H M5 66,600 56,200 10,400
Husotel 29 10,400 0 10,400
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I M (YT T /LB
& HFLAG (9 ® =)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
201 Le-2d| 6,500 0 6,500
01 At 22l 6,500 0 6,500
OgF Avslal o413 2F(AISE 7 S
) 110,000& = 58 = 103 5,500 0 5,500
OZF= asad o35 2% =& TAH2Y
10,000& * 1002 1,000 0 1,000
303 Z& = 3,900 0 3,900
01 Z& 3 3,900 0 3,900
OgxF AwglE AR5 2I480 8 T4 3,900 0 3,900
-2 1,500,000& * 18 1,500 0 1,500
-2 700,000& = 2& 1,400 0 1,400
— & 500,000& = 2€ 1,000 0 1,000
oilgl gl (oliBlBl/0lBlbl) 16,086,263 9,133,915 6,952,348
0l Bl B 16,086,263 9,133,915 6,952,348
([ M=]Rs]! 16,086,263 9,133,915 6,952,348
801 Gl HIbI 16,086,263 9,133,915 6,952,348
1 el gl B 5,000,000 700,000 4,300,000
OgBal A Letolgldgl  && 5,000,000,000& 5,000,000 700,000 4,300,000
02 THoll - TH:H= =0l bl bl 3,482,540 1,500,000 1,982,540
OLBtSI A THol - HEH SRl dl b
2 & 3,482,540,000& 3,482,540 1,500,000 1,982,540
B UHRERES 7,603,723 6,933,915 669,808
OZEsH ERE=S AZF 7,603,723,000& 7,603,723 6,933,915 669,808




